R E6S(ZED2)

R X 3% & &
LREE-LHERA
ks BX
1 08 A
(B M)

O—K| 1B\ B & % ] %

1 |BBEBERNE 960,000

2 T O b 0| EEFIFFH

a8 it 960,000
2 X H
(B{sr: M)

a—K| @B H & % fid il

1 AERARE 90,380

2 Mo =& 272,140

3 L #® % 219,126

4 | K B & 0

5 |EF-HEETEE 116,220

6 | & & % 0

7 | ERERE 3,772

8 | EHBAER 48,444

9 A B E 0

10 |EREBE-RBE 391,462

| &% & 0

=] it 1,141,544

3 & %

A 181,544 A




) -3

= 5§ &

(1. 8% 2. RA Q. ZH)

s BX

B

|
REHRE

B
%

z2%s| HH ES I'PN X H e (RED | wE
301| 1H258 |ikE 81,880 81,880
333 1A258 (L AH—K 6,407 88,287
334 1H26H [RESHRK 1,256 89,543
335 1H26H |REA VA 837 90,380
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s BX

N—T B
X & N
R %X % 5| & 3
15
(1. 8% 2. RA @). ZH) 2 | B MEE
£
zR%s| HH ES I'PN X H e (RED | wE

101| 8A 108 |[fEEL P FEH 22 3,300 3,300
102| 9A 128 |[fEEL P 22 3,300 6,600
103[10A 118 |[fEEsL P FES 22 3,300 9,900
202(11 A 108 (f8iEtL S22 3,300 13,200
330|11 A30H [(fEiEH hFES 2 3,300 16,500
203(12H 128 [f@EL P #EEH 2 3,300 19,800
302| 1A178 (k& 50,480 70,280
303| 1H178 |HHEE 30,000 100,280
304| 28108 [fEELhFES2 3,300 103,580
305 2A 168 k& 50,680 154,260
306 2A 168 |HHEE 30,000 184,260
307| 3A 108 [f@EtL P2 3,300 187,560
308| 3H29H |ikE 51,280 238,840
309| 3A 298 |HHEE 15,000 253,840
310/ 3H30H |HHEE 15,000 268,840
311| 4108 [(fEEH P FES 2 3,300 272,140

3/9



s BX

N—T B
X & N
R %X % 5| & 3
15
(1. 8% 2. IRA B. XH) 3 = L E
£
zR%s| HH ES I'PN X H e (RED | wE
2| 48208 | R—L~R—2 14,823 14,823
3| 5H6B|R—LR—T 14,823 29,646
4 6R6B|R—LR—T 14,823 44 469
104| 7B208 |TRh—LR—2 14,823 59,292
105| 8R4B|R—L~R—T 14,823 74,115
106] 8A7H|Hh—LR— (FE#HHD) 41,250 115,365
107 9AB5B|R—LR— 14,823 130,188
204| 1048 | R—LR—UK 14,823 145,011
205| 11 A48 ([ R—L~R—IK 14,823 159,834
206| 12A58 | R—LR—IK 14,823 174,657
312| 1R4B|R—LR—D 14,823 189,480
313| 2H6B|HR—LR—T 14,823 204,303
314| 3A6B|KR—LR—T 14,823 219,126
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s BX

R— =
X v N o
R % £ 5 & 3
3 15
(1. I8% 2. IRA 3. ZXH) I 5 B | EE-RETENE
N £
x@Es5| HH RNE N * ERE (R | BE
1| 48128 (k& 50,580 50,580
207|11 A308 |k& 32,820 83,400
315| 2RA1B|kE 32,820 116,220
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s BX

R—T B
X 7 N o
R %X % 5| & 3
= 15
(1. 8% 2. /A Q). ZH) | 7 B| ERMERE
N £
zmgs| AR AR X H (REH) | BE
5| 6898 |aE—MA#K 19 19
108| 6A17H|USB 792 811
109| 7R148|aE—# 116 927
110 78278 |aE—FB#k 2,100 3,027
111} 8A17H|AE—K 90 3,117
12| 9A28|aE—K 6 3,123
208/10A208 [aE—# 14 3,137
209|11 188 [aE—# 139 3,276
316/ 1A208 [aE—H 120 3,396
317 2A78B|[AaE—R 139 3,535
318/ 3A9H|aE—H 69 3,604
332| 4A208 |[aE—1 168 3,772
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s BX

N—T B
X 7 N o
R %X % 5| & 3
15
(1. 8% 2. /A Q). ZH) 8 B| EMBAZ
£
zR%s| HH ES I'PN X H e (RED | wE

6| 48300 |HER(LABAFEIAS) 1,887 1,887
7| 58318 |FHr@BEEms A5 1,887 3,774
8| 5831 H |FBMrLASAFKESAS) 930 4,704
113| 64308 |#EK (BAFE) 1,887 6,591
9| 7H48 |FMrRLASAKIEEAS) 930 7,521
114 7H23H |#BERK (BALKEHF) 16,500 24,021
115 7A308 |#EH (2 EAFRE) 1,887 25,908
116| 8A8H|#EMK (FiE) 930 26,838
117 8 A308 |#EH (2 EAFRE) 1,887 28,725
118| 9A8H |FENK (Fif) 930 29,655
210| 9A30H [FFEMK (NBAFRE) 1,887 31,542
21110 A 258 |#RHK (LA SRATRKE) 930 32,472
212|10A 308 [#FHEMA (2N BAFRE) 1,887 34,359
213[11 308 [#FHEM (N BAFRE) 1,887 36,246
214{12 A 158 |#FRHK (LA SAFRE) 930 37,176
319|12A 248 [#FHFEN (XBAFE) 1,887 39,063
21512 A 26 B |#RHK (LA SAFRE) 930 39,993
320 1A30A (R (LASATRIE) 930 40,923
321| 1A318 [#FHEK (XBAFE) 1,887 42,810
322| 2A278 [#FHEN (XBAFHE) 1,887 44,697
323| 3H8H|HMK(LARATRKE) 930 45,627
324| 3A318|HHEK(LASATKE) 930 46,557
331 3A31 8 |#EMK (LBAFE) 1,887 48,444
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s BX

N—T B

X % N
R %X = 5| & 3
15
(1. 8% 2. IRA B. XH) 10 | B |FHEE-KABE
£

zR%s| HH ES I'PN X H e (RED | wE
10| 4B 1MB|RY—rI+2(3AH) 14,692 14,692
11| 5A10B|RY—rI42(4A %) 16,099 30,791
119| 5H268 |RIREFEH 6,221 37,012
120| 5260 |RIRAR2— vk 2,103 39,115
12| 6 H10B|RY—rI+2(BAH) 16,708 99,823
13| 68308 |AVIAK 13,070 68,893
14| 68308 |AVI A 9,929 78,822
15| 7TA11B|R=R—r7+2(6A%) 16,702 95,524
122| 7TA11B|RIREEK 6,221 101,745
123| 7278 |RIREFEK 6,221 107,966
124| 7TRH27H|RIRA 23— vk 2,103 110,069
125| 8A10B|AY—rI#+> 16,706 126,775
126| 8A290 |RIREFEH 6,221 132,996
127 9R12B|AY—rI#+> 16,151 149,147
128| 10848 |&IREFER 6,221 155,368
129| 1048 |RIRAVA—2 vk 2,103 157,471
130/ 10A11B|AY—rT#+> 17,835 175,306
216|{10H21B (A VI 44 538 219,844
217|111 A10B|RAY—Fr742K 18,370 238,214
218|128 12B|RAY—r74 K 18,370 256,584
325 1B108 |R<7—r74+> (1289 17,808 274,392
326| 1A19B AV A 31,507 305,899
327| 28108 [R=—to4> (1B5) 18,407 324,306
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zmgs| A H NE IRA X RE(RED | BE
328 3A 108 [R¥—rT+> (2B %) 17,805 342,111
329| 4H108 |R<¥—r7+> (3B %) 16,501 358,612
336 4H25B(AVIUHK 32,850 391,462
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